HS 67 – HW for Chapter 9 & Chapter 10  – Assigned 11/1; Due 11/8

Comments: 

	Problem
	Solution
	Points

	9.1
	see p. 670
	

	9.5
	a) see 3 of 50, or 6% b) done in class on 11/3
	

	9.13
	see p. 670 (all probabilities must add to 1)
	

	9.16
	a) legitimate b/c every person must fall into one category and all categories add to 1 b) .125 (add up left-hand column) c) 1- .691 =.309
	2 pts.

	9.17 
	see p. 670
	

	9.18
	a) .5 b) .5 c) 0
	

	9.22
	Done in class on 11/3 
	

	10.1
	Done in class on 11/3 
	

	10.2
	Done in class on 11/3 
	

	10.4
	28/1 = 28; (28 + 40) / 2 = 34, (28 + 40 + 28) / 3 = 32, (28 + 40 + 28 + 33) / 4 = 32.25, and so on.
	

	10.5
	Done in class on 11/3 
	

	10.7
	a) see p. 671 -- notice that the standard deviation of xbar = σ / √3

b) solve  10 / √n = 5: so √n = 2 and n = 4; the average of several measurements is more likely than a single measurement to be close to µ
	

	10.8
	Note: This problem was done in class on 11/3; see lecture slide 14

a) µ = 188;  σ of xbar = 41 / √100 = 4.1 

b) Standardize the xbar value of 180: z = (180 - 188) / 4.1 = -1.95

Thus, Pr(xbar < 180) = Pr(z < -1.95) = .0256
	3 pts.

	10.17
	see p. 671
	

	10.22
	Note: Done toward end of class hurriedly 

a) Note that  σ of xbar = 0.08 / √3 = 0.0462, so xbar ~ N(123, 0.0462)

b) z = (124 - 123) / 0.0462 = 21.65; Pr(xbar > 124) = Pr(z > 21.65) is essentially 0
	

	10.24
	a) z = (140 - 125) / 10 = 1.5 Pr(X > 140) = Pr(z > 1.5) = .0668

b) σ of xbar = 10 / √4 = 5

Standardize a mean of 140: z = (140 - 125) / 5 = 3

Pr(xbar > 140) =  Pr(z > 3) = .0013
	5 pts.


